=
= L
o
a ~
5 -
& B A , Al N
X L ~ \ =
WA N S
S/
L N
N
L VP.\/
\
3 /\v\v
| 4
S/
B V5
WO&%\
— j ]
0 —
| W{
[ =
: - -
I - -
i H ] QWﬁ
W : -
| <
| = <
W . N L
W ] S
|
| | O H
> | <D
\, : - T
= i
\/ 1 ! ] -
\'n | T T T
2% el -
2 | _ = S E
| 3 2 i
|
- M , ||
iy NS
| ROdeE a
i L
W ] Av :
_ - |
| |
a
B L
| L
I |
28 - i
TS -
| = — AL
| h
i L
.a L
| § )
| e ol
: ] |
| X
f -
| N L
| <P
% U ) L
| | £|&
R <t| o -
W @l
| L O~
W S5 154 |
H - S KX
| |
i
2 | & -
= W - o=
| PN
| L
i -
7. ’
i ML
| > )
| % o
| .
| PR %
| Ve N 20 S
., T 0)\ \_Av
| | ” 22 &
% H 5
] | , m XX
W H 9%
, , ! ||
i ] |
i i
i , ! ]
] | Y
m L
oA { -
/~| ....................... f ]
,\/oo../d ....................... | -
AR\ NN -
27 ; g
L 1=
o |
—_—— . \@ m
............. = o~ I
B |
o X
S NG L
# S D
% | z |25 @ A | = u
S I ROV I = Z B
| 2|58 |= % @ f )
= SR X \ 7 ) .
£ |8 | 5| Dle| - ﬁ@.m.. 4@#‘[.&
2 ﬁ 4@%# -
Ll o © ] PN i
| =
w e | @ ewl B ow + — = |
- B = i @ ! )
| 5| % |lvea = i 2 EONN
% [A | Al




a4 R A IH T

THES ® 92 B
B R 4 T 9 BHR
BT s ey
fi] I3
NP N Grtr Al S:1100
FEE MR A3 $=1:200
X2 5 4 FE 2
+ = T
N S
=z N X
S=1:10, 000
0“}, oS 2
e \ B
\ig \%
41. 70m

l
n (As) — }
INE ;
(As) N |
] |
o | |
J
] I 1
ST 71T71 17 1 1 1 [ [ 1 1t 111 1 11 [ [ rrrrrrrrrr ot b b - |
| = j
| 2 ® |
al=46.92m v @ |I12-3
A1=213.87mi | |
| — I
‘ 5 |
\
1 [ [ | [ [ 1 U 1 1 1T T T b - i
N D5 B i
O |
- |
(As) }
- !
%
— l
b= ;
HEEBTEE (BEH)
x as a : ﬁﬁlﬂfﬁ*ﬁ (m)= A K@lﬂfﬁ*ﬂ (m)= = hyh- - =
&5 B B | EREE &t #5 B B | EREE &t (m)
EREE
279-1 ~ 280-1 | al | 46.92 | 0.53 46.39 | A1 | 213.87 | 0.53 | 213.34 — R 05 /e
T2 oER—)L 0.13 (m/ 4 f)
t = 46.39 = 213.34
= 46 = 213

Xal~. Al~(XCADET:RI




ASFn 4 4ERE K E T
TEEE %92 B
i ETEF3 AR
fon = \Z
L TS Ty U\

ST/ v Grtr Al S:1100 g

FER M 43 5=1:200
X2 4 HEPR 3

A \/ A \Y;
— \g A ks A Q

EREARS \® '%%4 A \© -‘ﬁ; )% A0

() v ”
19. 50m 48. 00m 12. 10m
ﬁ“ A
i< W \><

N N N R R At ek el

a3=59. 46 m
A3=163. 19m 7

a2=14.36m
A2=32. 69m

HEmEAEE (BEiH)

x o a:ﬁ@mlﬁ%(ﬁl= A:Kﬁmlﬁ%(ﬁlz ZRhyh- & =
HS m ¥ | EkrEiE &t S @ B | ER@EE &t (m)
281-1 ~ 282-1 | a2 | 14.36 | 0.53 13.83 | A2 | 32.60 | 0.53 3216 | 349 | EREH o i)
281-1 ~ 282-1 | a3 | 13.23 | 0.27 12.96 | A3 | 3449 | 0.27 34. 22 — | ¥TARTL 018 (m/yED
- = 26.79 = 66.38 | = 3.49
= 26 =66 | =3
A e -

Xa2~. A2~(XCADEt:A




a4 S HE 115 1B T
THEEZ 92 &
U e ey
P8R g S
X 2 5 4 B4
+ = iy
D ‘)\\é//
eI =
S=1:10, 000
AWV T% \Y
ﬁ& 3 &ﬁ ,&/
. =) 1 . ~}
N%%4/ $0%4
12. 10m 53. 00m
\ |
R — - niR
]
-
: HE
l
: INE
| ®
|
: _l
. | L |
T E F"O/ T3-2 : “““ r — ? C},4 ,,,,,,,,,, Lo
[ T [ [ [ | | | \III\@\ ¢+ 71 1 1 1 1 ¢ ¢+ +r ¢ rr ¢ g T T T T ]
ad=86. 51mi
A4=243. 61mi
N N A4 A4 ‘ N
- | KRLERK, ST g=0=e e NGE | “‘:“‘00%3939302%“““““‘“‘> TS =4 B
X XX KKK KRR X XXX (X X X X XX HKHKKKHK KX %%
| t S0 N - Ve
T E | o 7 1.7 1.1 1Tt anl
E (= i
W%’ l“l‘
— | l ‘
|\|-' \“
L [
I - |
INE | | | ‘-
! sl
— N ab=12. 20 E 5
| A5=55. 69
ll. | I ‘!‘“‘

WEEBEAES (WE)

Xal~. Al~(XCADET:RI

= o a: REBI@EHE (n) A AEBIEE (n) = ehyh- i N ' ” K
2| ®m W |BRE®| i (BS B W BRER| 5t (m) ” - \
A-A ERER g \

2781 ~ geho | al | 73.54 | 1.06 7248 | M| 23422 | 106 | 28316 | 354 | 55ENG o6y mismn "i'!\ — \
(o6~ 2821 | a2 | 80.94 | 066 | 80.28 | A2 | 27580 | 0.66 | 27514 | — | IEAR L2 m/yE) ” T al=5.80m =% %
281 ~  fB a3 | 59.46 | 0.27 59.19 | A3 | 163.19 | 0.27 | 162.92 — ” " A7=43.05m 2 ()
Dy~ 2823 | a4 | 86.51 | 1.06 85.45 | A4 | 243.61 | 1.06 | 242.55 | 3.58 — - ,gf;f”’ééﬂ;’\ »

. / - — \ Pa
282-3 ~ 285-1 | a5 | 12.20 - 12.20 | A5 | 55.69 - 55. 69 — - - \ —
282-3 ~ 285-1 | ab 4.29 — 4.29 | A6 — — — — 7 P
282-3 ~ 285-1 | al | 580 | 0.5 529 | A7 | 43.05 | 1.02 42.03 | 21.12 B -

282-3 ~ 285-1 | a8 | 11.38 — 11.38 | A8 — - — — AsE i B - - <L
= \ '
it = 330. 56 =1011.49 | = 28.24 oz ”
= 330 = 1011 | = 28 P T \
FLo1 -




